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Series : ONS/2 e . 64/ 2/ 1
Code No.
JeT . uﬁwﬁﬁ—s’aﬁwﬁﬁw%wq&s
Roll No. R S o |

Candidates must write the Code on
the title page of the answer-book.

o PUAT ST F A {oh T UA-UF H Higd IS § € T 2 IS HAMA H & |

o UYA-TF H e &1 i 3R ST 7T Hig TR I BT STR-YRsh! & T&-I< W ford |

o  FUAT ST HY o foh T URA-UT H 22 T & |

o  HUIT U HT IX (TG IE FHIA | Uget, UIH BT HHIH Fa¥T {19 |

o IH AT H TS & [T 15 e 1 9O IS T ¢ | URH-US 1 faeRen geld | 10.15 S
foham STRAT 1 10.15 o197 | 10.30 o7 @ BT hael Ye=-U7 Sl U7 &K 39 31afd & IRA o
ITR-GIETHT T s I Tl fora |

e Please check that this question paper contains 8 printed pages and 2 pages of maps.

¢ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.
e Please write down the Serial Number of the question before attempting it.

¢ 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

AT (HFTTh)
GEOGRAPHY (Theory)
Frertfee qae 3 gue BT i 170

Time allowed : 3 hours Maximum Marks : 70

| e
(i) FoA-TTH o722 FIAE |
(i) & 797 S &
(iii) T T99 3 37 39 G [T 7w & |
(iv) 97 Q&1 T 7 a% 3T o9 ITRIT 997 Ub-0a 3/ & & | Tediah J97 T IT7 40 V=1 G
3ifére Tl & IRy |
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(v) 9T GEI8 G 13 7 T ITIT J99 & | 376 T T Goof TR J97 & | Ieddh 497 3 3%
HT & | HedF 79T T 3T 80 T 100 V1T T 37 71 &7 T |

(vi) 99 T 14 T 20 TF 3 FRIT J97 & | Jed% 99 &5 3 & | 370 & JdF J97 FH
FI150 v1=<1 @ 37fees 8l &1 =RT |

(vii) 97 G721 322 THFT Qe g9 5-5 3k & & Sl e 79 18 qEfaE w7 i
TETOT 1 Gg=I, R @ 3% ArHieT e @ qeara &

(viii) TG 3T YR & 3T 7T GL-TAIHT 1 3797 ST-GRAFT 3 e § 3799 Fe4T BT |
(ix) E-HAE T & forw @rer srerar @fer & 74T &1 @ty 31 St & |

General Instructions :
(i)  There are 22 questions in all.
(ii) All questions are compulsory.
(iii) Marks for each question are indicated against it.

(iv) Question numbers 1 to 7 are very short answer questions carrying 1 mark each.

Answer to each of these questions should not exceed 40 words.

(v)  Question numbers 8 to 13 are short answer questions carrying 3 marks each. Out of

which one question is a value based question. Answer to each of these questions

should not exceed 80-100 words.

(vi) Question numbers 14 to 20 are long answer questions carrying 5 marks each.

Answer to each of these questions should not exceed 150 words.

(vii) Question numbers 21 and 22 are related to identification or locating and labelling of

geographical features on maps carrying 5 marks each.

(viii) Outline maps of the World and India provided to you must be attached within your

answer-book.

(ix) Use of templates or stencils for drawing outline maps is allowed.
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TER o {2l &1 &1 1 Seord HIT, el Ui ol {oh.H, T AT § i FH7 A &l € |
i+la=1

Mention any two regions of the world which are very sparsely populated, having less

than one person per square kilometre.

TN T TRTSAIHRT, TUDE TN o STia T 5T TR GraeTsTeh ST & 2 1

How does empowerment of people make the life of disadvantaged people comfortable ?

MUY STNT T HIS Tk IITE0T T | 1

Cite one example of basic industry.

‘ST I | T AT & 9 ST UK T Teh 3SR BT | Y+ lh=1

What is an ‘entrepot port’ ? Give an example of it.

“1901 ¥ 1921 =i 37T Pl YR I STHIUE i g i T WET el STAT & 17 37 HI
T TG HINT | 1

“The period from 1901-1921 is referred to as the period of stagnant phase of

population growth in India.” Examine the statement.

“ORA T A, TG [FehI Fahich Hifeshd | Faed & |7 39 H2T Pl TR BT | 1

“Kerala is able to record the highest value of H.D.I. in India.” Examine the statement.

Hiteg o Feafa = {59 WehR 8 Uk W QHRI-0<H SH | FeTadT i € 2 1

How has the location of Kochi helped in making it a major seaport ?

AT EIETR Sl FehedT ol TG ITE0T Hed DIty | 3
Examine the concept of Neodeterminism with example.
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9. i fSU T 3G T THIT HIGT A 3T A fGU 7T g1 o I foifan : 3x1=3
808:: f
75-79 | 1
70-74_
65-69 | § H i
©l I =
B S ] e
40 4-4_
35-39
%V 30-34 1
~o]
2 104 I
10-12
59 | ey Ay i
04 % I
12 10 8 € 4 2 0 2 4 6 8 10 12
FHE TAEEAT B

SAThET BT : SHITHDT $3R Teh, 2009-10, HIFT T FiTh! TN
(9.1) 29 3g-for foRifre =t 3Tl et & 2
(9.2) 79 ToRIfTE T <ET SMER T ST ¢ 2
(9.3) 6 EIS R I fhdl T T SeTere IT 1 FHTd Tedl € ?

Study the diagram given below and answer the questions that follow :

85+
80-84

75-79 | f
70-74 |
wn 6569 i
ofegpad :
= 60-64 ] Eﬂ

Seal e
g-' 4549 |
> 4044

= 3539

O 30341

o
Sp 25-20
< 2024 ]
15-19 I
10-14

so] i cic o m
o] ; T

12 108 € 4 2 ] 2 4 6 8 10 12
Per cent of total population

FEMALE

Source : Demographic Year Book, 2009-10, United Nations Statistcs Division
(9.1) What is the shape of this age-sex pyramid ?
(9.2) What does the broad base of this pyramid indicate ?
(9.3) What is the impact of this broad base on the economy of a nation ?

A ; TG T hael gfeanfia wentea & fofe ve e 9 & = WE 3x1=3
(9.1). g frite fohd et & 2
(9.2) L3R AT BT - TRIFE fohet a1 <Rl SITT & 2
(9.3) S-SR dreAT 7-fert foRifire g o vepr & <ot & e € 2
Note : The following questions are for the Visually impaired candidates only in lieu
of Q. No.9:
(9.1) What is age-sex pyramid ?
(9.2) What does the broad base of any age-sex pyramid indicate ?
(9.3) In which type of countries do we find age-sex pyramids with broad base ?
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IR H s 3R 3-[resd AHT Sl | 330 Gfed 3T T it | 3

Differentiate between the clustered and semi-clustered rural settlements with examples
in India.

‘9 A ST fo & fU @S WA A1 AT SEvas € 17 9 U ol Suged
3RTE0T §RT it HiteTT | 3x1=3

“Mineral resources are necessary for industrial development in the country.” Support
this statement with suitable examples.

T feu T e 1 T ST 3T ST A KU T g9t % 3w fafEn 3x1=3
S R T A

Eusic

e
e @
| Yo8 T
(12.1) 39 3@ ¥ @ T SE1 H5 i Te=0 S SHHT T fargy |
(12.2) =9 G & folT STeT o & 1 3oe1@ i, |
(12.3) 39 G5 & [T0 Higet iR iie- 37w SUAs & aet T &F1 o AW fofau |
Study the following diagram and answer the questions that follow :
Bi!a_sp.urlN ¥ ?Korba
Balaghat S I T g % e
&? Mahanadi River
PR

| .
Durg Raipur

Dalli Rajhara Hills Manganese

i Iron Ore
/ ] Coal
¢ lron

| s Railway

Tank

(12.1) Identify and name the steel plant shown in the diagram.
(12.2) Mention the source of water for this plant.
(12.3) ‘Name the mining fields which provide coal and iron ore to this plant.

e ; FeTetEa v hae gfeanrtua whentemt & o ue e 12 % ©H WE

(12.1) <iETg T59 H I Tenishd &lel @ g | &1 9 fafau |

(12.2) @eT 3 T G4 | TR {ohU T bl &1 Wb o hedl HIeT T Sooild iy |

(12.3) T 3T T SN T MR ST o T H Tawdl T i |

Note : The following questions are for the Visually impaired candidates only in lieu
of Q. No. 12 :

(12.1) Name the integrated iron and steel plant located in the State of Chhattisgarh.

(12.2) Mention any two raw materials used in iron and steel plant.
(12.3) Explain the importance of iron and steel industry as a basic industry.

5 [P.T.O.
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13.  “ Tgdl g% SHEET 3R TS SR % HROT ST & SAaahyel SUFRT F R H 5T
T TUTET BT TEIHIT §T & 1 3 ol T W HIST ST 37 TR o FeeR hl gaieaned
T | TS Y T ¢ | 3

“Indiscriminate use of water by ‘increasing population’ and ‘industrial expansion’
have led to the degradation of the quality of water in India.” Explain the values that
can help to discourage such practices.

14, “3Tremgi S AT X TS STl B gig fashraeier 3o H IRt aheEl B THE gHeE € 17
TH FHA D! IV Tfed W& HIfT | 5

“Shortage of housing and growth of slums are the major problems of urban settlements
in developing countries.” Examine the statement with examples.

15. “FOR ° U FY, TS Mo o QI-T1F 91 Ted H IH & 7 TH FHI Ff TG F¢ | 5

“Dairy farming is both capital intensive as well as labour intensive-in the world.”
Justify the statement.

16. =UIRE i T FAT IR € 2 IR H Feoh AR AR 2ich AR T 3R WL HiT |
1+4=5

What are trading centres ? Bring out the differences between “Retail trading’ and “Whole-
sale trading’ in the world.

17. HOR # URUGTEA UNEed o oY W IS0 | IReed &l 30 61 & 1g qenst S /"
T | 2+3=5

Explain the advantages of pipeline transport in the world. Examine the major problems of
this mode of transport.

18.  “WaT I VisHAT WaH & ITTH (37 e & o fefu o3I &1 I S et & 17 39
e 1 feerspyut faaem HifsT | 2+ 25=5

“Migration creates both benefits and problems for the areas people migrate from and
migrate to.” Substantiate the statement.

19. 9Rd ¥ =rac 3 g BT HT 1 90H, Jilifcish avashdial 3 34 Scaieeh &6 & Tl o
| 25+ 2% =5

Describe the cultivation of Rice and Wheat in India with reference to Geographical
requirements and areas of production.

20. TR STIHEET H ghg H ARAE Yotd 7 6T TR AR U AT € 2 SSR0 |ied e

FHIT | Sx1=5
Explain with examples, how Indian Railways contributed to the growth of Indian
economy.
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21. WER & ToHifder {@-qHEes 9 9 Siiters aefoi &t A, B, C, D 3R E ¥ feamr mn € |
T IO I T I TE AR I 458 ¥ W T 37 el M, b ebe @it T

Tt
(A)
(B)
©
(D)

(E)

X fetfa - 5x1=5
RAT STHRERT H T IS &1het el <97 |

TRTT H STeATaETE ST TUE HH T &

3TOhRIHT | T THSI-UT

SR &S U

T TR

The five geographical features are shown on the political outline map of the ' World as

A, B,

C, D and E. Identify these features with the help of the information given below

and write their correct names on the lines marked near them.

(A)
(B)
©
D)
(E)

The country with largest area in South America.
An area of subsistence gathering in Asia.

A major seaport in Africa.

An International airport.

A mega city.

Ate ;. FHfeiad we Faer gieantim adenfat & e moa Ten 21 F ™A WE: 5x1=5

(21.1)  TRI0T 3TAREHT & TEH ¢ &IFHeT drel <97 T A9 i@y |
(21.2) TR ScAMaTE TS GUE % FHY &5 H AW feran |
(21.3)  SHToT TRl H ToRE! Tsh W TN 1 A ffEg |
(21.4) STHAT % foHdr U SRR Ag-u<H &1 AW fafEn |
(21.5) T T FHNH & T WM TR H 1 gy |
Note : The following questions are for the Visually impaired candidates only in
lieu of Q. No. 21 :
(21.1) ~ Name the country of South America with largest area.
(21.2) Mention one area of subsistence gathering in Asia.
(21.3) Name any major seaport in South Africa.
(21.4) Name any International airport in Germany.
(21.5) Name one mega city of United States of America.
64/2/1 7 [P.T.O.


http://schools.aglasem.com/
http://schools.aglasem.com/

AglaSem Schools

22. WRA % ST T AHITS T@-AMES § et s fefa suged et @ KErRe 3K 3716
A fofa 5x1=5
(1) e T ST areT 9 (2011) |
(i) AT TR SHE@I % ST el T57 |
(i) FHeh 5T H e et I HREMT |
(iv) Ufyem STet o eI Uehishd AleT Ue ST S |
v) OIS U & I 1 T A % (o0 faepiad foham T e g ggst-ua- |

Locate and label the following features on the given political outline map of India

with appropriate symbols :

(1) The state with highest density of population (2011).

(11) The state having highest percentage of urban population.

(111) An oil refinery located in Karnataka.

@1v) An integrated iron and steel plant located in West Bengal.

(v) The major seaport developed to relieve the pressure at the Mumbai port.

At : TR 7o Paer giteantaa ahenfedi & o T dem 22 F A WE:  5x1=5
(22.1) SFEEAT Y T T TR HT TG TeT 5T B 91 & 2

(22.2) R ST T T T WRA T TG el 99 B T 2

(22.3) Mg H TE HREAAT TH H T faran |

(22.4) Tovavadan s w9 fore T | fea € 2

(22.5) I 9O % IaTd I HH HA b [T S U % w9 § fasiad feu Mo vmE
TURI-U 1 AW fefau |

Note : The following questions are for the Visually impaired candidates only in
lieu of Q. No. 22 :

(22.1) ~ Which is the largest state of India in respect of population ?
(22:2).  Which is the largest state of India in respect of urban population ?
(22.3) Name the major coal mine in Tamil Nadu.

(22.4)  In which state is Visvesvaraiya Steel Plant located ?

(22.5) Name the major seaport developed as a satellite port to relieve the pressure at
Mumbai port.
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